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If nisan integer and 100 <n<200, what is the value of n?
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1) :—6 is an odd integer. EE—-

2) % isan even integer. ¥ i* -
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Is x>67 2
(1) x>8 A
(2) x<10 [ R SE ]
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[s x<6? AR ) 21 drdk % 4~ Ifxis a positive integer 1 #&
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What is the value of x? [s x positive?
(1)x=2or-2 (1) x=2 or -2
(2)x=20r5 (2)x=2o0r5
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3. FRF FIHBEL LR
(Isxy>0? Isxeven? Isx>0? Isxatleast10? Iss+t>s-t?)
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FRES
sulfcent_y (D)
sufficient Check (2) \
/ insufficient (A)
Check (1)
sufficient
insufficient Check (2) _— (B)
insufficient
ey (C)
Check (1) + (2)

insufficient

(E)

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.



Lecture 01 - & #(Arithmetic)
- ~ % i#(Integer)

If x is a nonnegative integer,......
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vzt la+b=b+a
fi2 2t arb=bxa
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ax(b+c)=axb+axc
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tra+(bb+c)=(G@+b)+c
Erax(bxc)=(axb)*c
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(5)# & 258 1 (x +y)? = x% + 2xy + y? (x —y)? =x2 —2xy + y*
x+y)x-y) =x* -y

ot
[s xy>07?

(1) x+y>0
(2) x-y>0

2. 7] & #( factor and multiple) Note: divisor 4R % factor

If x and y are integers and x #0, x is a factor(divisor) of y provided that y = xn for
some integer n. In this case y is also said to be divisible by x or to be a multiple of
x. For example, 7 is a divisor or factor of 28 since 28= 74, but 8 is not a divisor of

28 since there is no integer n such that 28=8 n.
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